Grade 9 ( Review) :

Email: rabdulla@uasdubai.a

office hour: Wednesday after school, every day from 6-7:30 am and at lunch time.

Test Day: January 18, 2017

Unit 2: Collecting Like Terms

Simplify:

. x+x+y+y+y=,2x+3;-

S oS = o _\_3751

Unit 2: Distribution Law

e 2(x+3)=
Do pl
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How would you solve and draw this? = | 2
3C""4>5 o K=8i= =5 l
x£-2
Solve each inequality.
<té
1200 +3) =18 2.3(d —2) — 2d > 16 34h—8<2(h—1) -ZL'
s o U s
4.6y +10>8 — (y + 14) 5. 4.6(x- 34)é5u 6. bxr—(x+3)=1
@ &+ﬁ°>g’ 5 q>,¢,< —0.09xy3:5) =5%= 2">3|>/'
f 3\ 2! ‘q{%‘—é/
>—f6 A>35‘ Feas ~F x> Y
eeachc QL mequahty Then graph the solution set[: * \<\ il \
B — 3< 70rk+5>8 = B ot o= 3
e K>3 i , 7

S W &

—4-—3-2—16 1I 12 3 4

<3L 3h<ﬂ ++4:Ez;2F+—F+—+-
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Determine whether each relation is a functj
10n.

ik ¥ 2.
' N[ 35 o Y
N
X 5 0 =
= X S~ 1
= |
FC&V\C'_L\C’\«_ E(nc"ic/\.r\ N F
5 Lot S 6. y
0 Y
(2] X [7) X
(]
S | b ‘
(\Jof‘ E'umchcm ,{Vd]" ﬁlmci\&“ F,:.\ C HE’H '
7.14,2), (2, 3) (6, 1} 8.{(—3, -3),(~3,4), (-2, 4} 9.1(-1,0),(1, 0}
N f~aa! J y
Unit 1: Formula Construction Nek Fovn cilem Func hem
Jack pays $2.50 per pen.
He spends $17.50.

Write and solve an equation to model this situation.
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@ i tho My SeesE P

Wi Pk Season Pass-Gs
2 = 4ot visibs 64< B (4.5x%
BA4<1Y.5 2

e

A ;
You muSIL Visit e parK move then ¢ F‘M‘T‘:ﬁ

o

admission
A water park offers a season pass for $64 per person. Without a season pass, ab C‘ﬂe/w

for the water park is $14.50 per person, and there is a one-time registration fee of $5.

How many times would you have to visit the water park for the season pass to be a better

ECao| =

deal? Define a variable and write an equation for the situation, Then solve.

1. Three is added to a number, and the

the number. Lfé+7ﬁ):‘é

pfx= b

7x = |

m is multiplied by 4. The result is 16. Find

2. A number is divided by 4, and the quotient is add - t is 24. What is the
number? &f_g:g_q . X izzgqs

o

3. Two is subtracted from a number, and then th
is 30. Find the number. 5 (% -2) = 20

A
4. BIRD WATCHING While Michelle sat obse

£y

Sty

g birds at a bird feeder, one fourth of the

birds flew away when they were startled by a noise. Two birds left the feeder to go to
another stationed a few feet away. Three more birds flew into the branches of a nearby
tree. Four birds remained at the feeder. How many birds were at the feeder initially?

Unit 2: Formula by Induction

st
SHE A 17, ;;f 2— N
d=3 * :
rel ii 5

Find a formula.
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Unit 1: Domain & Range

e Domain = x values
e Range =y values

How do you write Domain & Range?

Example:
D={ |0<x < 4}

What could the graph look like?

Find the Domain and Range of the following:
e ¢ 13 ALY

Range s 29€ 3 <642
; i
u = = =

41), (5,51}

2, G618}

6%,5.2%

_,1.83
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Unit 1: Function Notation

1 If fl@)=3x+2 find the value of:

L1
a f(0) LI C) =1 d F(=5) ¢ fl-3 M )
Pry=3@r2 | Fed- A2 PC=3( ,)+Z P35 ﬁ(—%):f(;)

=2 -8 .13 o

= _\ ’__(,
| 2 If f(r)=3c—22+2 find the value of: i ﬁ

a J(0) b /(3) ¢ f(-9) d f(-7= @
Roy-3o)0%2 |F3)=303)-3" 42| Fep=39-(3)+2 |3 F)-(-E)2
=2 3
22
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Quadratics

Use the quadratic formula to solve each equation. If necessary, round to the

nearest hundredth.

WMo ie-2-0 3207, 3

3, 22 —3h+2=0 ), %olw\Tcm

3 R
Sl T IR T .

=z

b:O‘5L’
43 b S =00 i

Solve each equation. If necessary, round to the nearest hundredth.

5.d2—d=30

A=6 ,d=-5

6. 15x2—23x+4=0
x=4 Ko 9

Find the vertex and axis of symmetry for the graph of each function
b

using x = i

Tft) — — 4x— 8
vortex: (2,- 12

OUANS J?.S\'mf x-’—z

V'-(Ll;l"l
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2. glx) = —4x2 — 8x + 3

P Vi (-\;'¥)
x1s Ll
2xb #5R.
4.f(x)=?..::2£-6x+5
V2 (4 1)
'—}'.T\zjzfzxrs »
) o A=
2-5x+4=0
1111

i
-+

l -7 @»'5;."2'%)
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